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AIR FARES & TICKETING-III
Time Allotted : 3 Hours Full Marks : 70

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words
as far as practicable.

GROUP - A
( Multiple Choice Type Questions )

1. Choose the correct alternatives for any ten of the following :
10x1=10

i) NUC stands for
a) Neutral unit of construction
b) National unit of currency
c) Neutral unit of code
d) None of these.
ii)  Quantas is the Airlines of which country ?
a) Hong Kong b) Australlia
c) Germany d) France.
iili) Mexico city is located in which IATA sub-area ?
a) TC-1 b) TC-2
c) TC-3 d TCH4.
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iv) Lagos is the capital of N )

R el
a) South Africa b) Keynia -

c)  Nigeria d) Uganda.
v)  The three letter city code of Port Blair is
a) PTZ b) PBT
c 1X2 d) ABT.
vi) 2-letter Airline code of Indigo Airlines is
a) IG b) GO
c) 6E d Iw.
vii) Jaiprakash Narayan Airport is located at
a) Bhubaneswar b) Lucknow
c) Patna d) Ranchi.
viii) The headquarters of Amadeus is located in
a) Germany b) Canada
c) U.S.A. d UK.
ix) The Airline code number of Air India is
a) 001 b) 058
c) 098 d 125.
xX)  Two-letter Airline code of Spice Jet is
a) IT b) SG
c) Al d SJ.
xi) The National carrier of Sri Lanka is
a) Sri Lankan Airlines b)  Sri Lanka Airways

c)  Air Colombo d) Air Lanka.
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GROUP - B ,,

( Short Answer Type Questions )L__ e
Answer any three of the following. 3x5=15

Write down the global indicators of the following routines :
a) OSA- DEL- MOW

b) SIN- JNB- RIO

¢) PAR- JFK- SFO

d) MEX- HOU-YMQ

e) DEL- TYO- LAX

Write the full forms of the following :

a) NUC
b) ROE
c) CRS
d) BSR
e) EMS

What do you mean by special fare ? Explain its importance.
What is E-ticketing ? Explain its merits and demerits.

Briefly explain different types of journey.

GROUP -C
( Long Answer Type Questions )
Answer any three of the following. 3x15=45

Write down the steps normally observed while planning an
itinerary by Air by considering an hypothetical situation.

Explain the necessity of OAG with respect to travel industry.
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9. Discuss the travel information manual with—=all its
R e ol

e

subsections.

10. What is CRS ? Explain the role of Amadeus & Galileo in
promoting Airlines business through their network.

11. Calculate the fare for the following journey with route

diagram and complete the fare calculation box.

GI/MPM: EH/5863, LON BOMC 1/2 RT : NUC/932-15
ROE -1-12675, Rounding up 1.

TPM LON

898 ROM BA

2779 ADD SA

2383 BOM Al

2383 ADD EK

3467 PAR AF

220 LON BA
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